Day 8 - Review.notebook

In Summary

Key Idea
* The vertex form of the equation of a quadratic function is written as follows:

y=alx—h?+k

The graph of the function can be sketched more easily using this form.

Need to Know

¢ A guadratic function that is

written in vertex form,

y=alc—hy? +k

has the following characteristics:

- The vertex of the parabola has
the coordinates (h, k).

- The eqguation of the axis of
symmetry of the parabola is
x=h.

- The parabola opens upward
when a = 0, and the function
has a minimum value of k&
when x = h.

- The parabola opens downward
when a < 0, and the function
has a maximum value of k
when x = h.

y=alx— h2+k
a=0

My

o

A

* A parabola may have zero, one, or two x-intercepts, depending on the

location of the vertex and the direction in which the parabola opens.
By examining the vertex form of the quadratic function, it is possible to

determine the number of zeros, and therefore the number of x-intercepts.

Two x-intercepts One x-intercept No x-intercepts
Y 7 \i/
Assignment: pages 335 - 337
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Form

@Q UT) ONS=>(.0 U&l 5\*0&& %unc:hon

I. For each guadratic -?unch\on below,
mdenhﬁ\j e fol Eewma

1) -H\e direction in which the @Qrabom
ens -
“u}) he cCoordinates of the vertex
i) Fhe cquotion of +he oxis of Rﬁymmcﬁ'r\\j.

o) FX)= (x-3)*+7

1) O pens Pward
i) Uer%-CXo(CS )
HUMWAXIS of S\/mmc-i-ra e X=3
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b) m(X)=-2(x+7)*-3.

1) Opens Downward
;'{_)5 arebey (=]—=3]
i) AXS of éymmc—!‘rtjﬁ X=-"]

) 3(x)= T(x-2)*>9

1) Opens “Upward

) Yertex (2,-9)

) AXIS of éymm:rhg: xX=2
d) nﬁx)=%£x+k)‘+1©

1) (%Ft:ns Upuxrd

1) Yertex -M&C))
) Axis of \S\;mmeﬂ-r})i xX==-4

May 24, 2019
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e) r(x)= =2%x%*+S
r(x)=-2(x-0)+5

) Opens Downward
1) ’UJ:e)r-’k-c:x (o,S)
i) AxXIS of Symmcﬁ"rj s X=0
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2. Predict which of +he following Functions
have a minimmum value. Also predict +he
io@ C} number of x-intercepts that each
function has. “Test your _;gcifcﬁbns
by S¥Ketchinag the aph each
?t?ncﬂ*ﬁiﬁ J 3

a) fx)=-x2+3 SKetche
f(x)= ~(x-0)*+3
Vertex : (0,3)

> Opens Downward=> Vlo.x;'rnum
Ly & x-intecrcepts

J
SKetch
) m)= (x+4)*+ 2, gt \/
Jertex | 4,2)
L OPET\B Upwardl=> Hinimum *
Ly No %x-intercepts
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3. :De:i-ermmc the value of a, If pom+ -L4)
1S on “+he C{Juqdror\'xc -Func+ton

f(x)= a (x+2)*+1

1,4) = a(x+2)*+17
X\ 12; = a(-1+2)+7
4= g (1)*+7
4 = ll)+7
~4-7 = |q
~3 = la
|

I
Q

S
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4. Which equation represents The Svoph?
Jastrify Your decision.

6 6.3 * Opens Downward
‘ f’”\ % Uertex(3,5)
2/ ¥k C=-1 (o,-:L)

™

.

i ‘{
2 %2 4 6 8
24, (0,-1) !

=-2(x-3)*+5

9773
B. :lj:: “(‘)(-3)&'?‘5 D. '}j: Q%_)_.Q'X—S,)Q'F S
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5. Mjork*ch each equation with i1 ts
Qorrespondihs Sraph. Explarn your
rcasomns .

y) Y« Motch: <¢) 8'—"-%."-3
a -2‘2"_ 2 4

AN
61 |
,8

103,
Uertex (0,-3) ; Opens Downward

i) 10:”7_ ;f Matchs d) NE (x=4)3+2

8
6
4
24
I s e
k.
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[

) Matchs b) —(x+4)*-2

6 4 2 o X

I S
r S T3

.'30.
Uertex (-4,-2) ; Opens Downward

iy ¥ f o ) - 2
10 - N % = ( %—3
1V ) B? Mcﬁ-c"\ Q) '}j (%—-3)

VUertex(3,0) ! Opens Upward

May 24, 2019
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8. WQr\een and @ndfcﬁ are botrh G ++ tall,
and they play  on the Same college
volleyball +€am . Tn a game, (andice
setr g arleen wWith arn outside high
pall for an atrackK hit Using a vide
of the aome) +heir coach d¥termined
thot +he heght of the ball above the
Court, in Lee , ON its path From (andice

+o Hjﬁlccn could be defined b}j +he

unchon
hix)=-0.03(%x-9)*+%®
where X s the horizontal distance,

Measured in feet, from one e,dge
ocf the court.
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a) Determine +he ax's of Gymme'l-rs
of +he paratwola.

Vertex (9,8) Axisof Stjmmd'rg

b) Marleen hit +he ball ot s hiahest
pornt. How high abeve the Qc&_m"r
was the ball~ when She hit 11?2

“The ball was BFt above Hhe court
when she hit i+

11
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¢) How ‘ms‘i_\ was ¥he dall when (andice
Set (+, 1 f she was 2t from The
edac of +the court ?

h=-0.03(x-9)* +8§
h'= ~0.03(2-9)*+38
= —-0.03C1)*+ %
= —0.03 (49)+%
N=-LNT+E
= (.53 %t

The ball was 6 53F+ high when (ondice
Set 1+

May 24, 2019
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Foundations of Math 11 - Chapter 6 Exam Review

Muliiphe Chales
ddemitify the chikee gt best comp

der the ifemen] ue anvary e Auiiinn

'Ijl 1. Which et af data 15 eorrect for 1l g
\

)
i
|\\ .'I
Al .|'I
it !
' .l‘l
i /
1 A .IIJ
1 \‘*wf/-.:,.:e‘:l
1 -1 -1, s R R T
i
L1
|
r_ | Awisof Symmeiry Vertex Domein__ | Hamge |
A r=} (3.2] e R pEz
| B =] (1,3 c |
C. i (2,3 pz
I r=1 ]| i
Hj "GL'I!.
L] mel
I3 &el B,

pl 2, What are the x- and y-intercepes foe the funetion = - 2 - 87

i y-0e o) O
B} x=-2,5=4,y=-8 0 - (i )

Ul oo dnlercepts, y = -4
I« 4, 5= ymaf ¥ oH -0 Ilka\;): L&)
L= | xmep

13
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h’_ 3, Thepoinis (-2, 4 and {1, 4) are located on the same parabola. What is the equation far the s of symmetry
fr this parahola?

Q__ 4, 5n1v=1;451—-1'ﬂl1y Taczoming, i
i

R (x4 |\}\Kﬂrl:l )
Tl Hath= (O \xtlru

Ag=da=]
(I s=5=1 5 -l |owa|

_'1.?.3 3 :;:Ih':j.: Mir= 24 =0 I Lactarimg, i s
o
| - ‘r_} "Il\:(-lldl\:l :-.L"|

}.f_ & =0 '|I Y =0
T I

May 24, 2019
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May 24, 2019

C. 6 Solve LN - 121 =008 [citng.

A el ==l

Cyonx - 'J.")'-f I':m.u'-"",l =13
S T Cet=0 | oxet =]
L L el | G o
5T j_j W i _;:;/.-
oy 5= 1Lx= -1l A= Vo Is}
-P-:’ 7 \'n'I:'cI-.:.-.l.ul’:lu:awucLh-r:I::g.:ﬁ-:u..

A il |50 G

I ¥

: e e B _|~'I_ ) fa Gy
| Direction arahels opris | Verles Axis af Symmelry

P | downwand (15,12 r=13

B, | downwand

- L — - i
SR {11, 15} Nt
t; upn . 21 le=-ld |
1. uprard e { = i
varder | 13,16)
AL sall, : i
(sl wre, W (=D
CT53 A t"j“. ]
135 e
1l
F B Which quadistic functin represents this parid .
i
2,0 il
[
3 |
LA b=\
At e 2 L} E y i
.'f i AL Gooneold
| |
II'- I =]
R T |
| | -
| i
|

Ch p=(e-2+1
e+ 2F 41

15
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E-f 9. & aulratie: Tenm - >
b O Solver -3+ !|-,|.~.'||!.'lhl.'-..l:IL|I-;|I-..|dl|l-.|.. oo el e

A rhy I ':;'II = :-I.l A l;‘-flll i3 ?_‘

1 (=% dip
rl
b [
i !
T e
X K= Y | A=2
1 4
| |
olE W= L
T
T o
= 00 Solve 8 4w = 1= Dwsing e guadratic formida a=s 94 bl o= |
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Short Answer

S .

IL. Solve 45 4 7 _’ Ity fnetoriug,

(443 )0 =
iy Ex

(e Duxez) =0

(R
wal =0 | Ly =02
2

12, The graph of a quadsatic furctivn has s-tlersepls a0 -+ aml 5

.I'-\.". |'\." |:'||."|L' [EREIES
Fe-d |45
A4 =0 | %-Gt=0
: e,
O: Lx*”.\ﬂ".‘.‘.'
t- % Faxalf g -2l
T —_—'IUI
el e it

13, Dhetemrrgs he valie of i

Wiite o guiklratic equatzon in ytandard frerm

given that 44, 8] satisfes the quandrals maton 5 = af

LY
% )
-t LL[“}-J\J +5

7
3= al?)

IR
|| i

i

17
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i A (
14, Salvex == 5= 0 ysing the quadeatic lormual. Stile ithe solution a5 exagt valups

gl oe-l o -%

%= -+ 3":_T_Ll_)_u:§

S
A= 4t fladn
&
X= \*i5
o
A I_ﬂ ':H'I' I| 3, .I s, xTI "..lll
B ="

May 24, 2019
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v 2+ 2= D uiig L arlraglc fornuula, #ate the suliion as it valugs
13 e 27 b

May 24, 2019
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16, A parabola with the vertex (=7, -2) passes through the point (-9, 10),
Determine the equation for this parabola. Express your final answer in vertex form.

h=-1 = &*ﬂ;-? 7
4 i =2(x+D-d
s,

fl'-'-?
A== A G“(ﬂa'}}
B o=

g vl

%'r- Q

May 24, 2019
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Attachments

7s6e1 final.mp4
7s6e2 final.mp4
7s6e3 final.mp4
7s6€e4 final.mp4
fm7s6-p9.tns
FM11-7s6-ahk.gsp
FM11-7s6.gsp
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